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U4 Y IR fgped
Q. No. Question Answer Options
1. |O1Es B U v R B A.
Side cutting edge angle is depicted in Ej
S
C.
D. E
2. |MI121SO BRE R@ gl &1 U4........... 21 A. 175805 mm
The pitch of M12 ISO metric coarse thread is B. 1.00 {4t /mm
C. 1.50 T dt/mm
D. 0.80 4 /mm
3, |FufafEd ca o1 wa Sig o g RUSa 9 98] A. 918 WBIER/ Try square
%@amﬁ?ﬁﬁmm% B. TBIER / Scriber
The following tool is used for setting the job| C. §ad Wgdex / Bevel protractor
concentric to the machine spindle D. Idg TS / Surface gauge
4. |Foffea o o W ST Ra BT USRI T8 8 A. SUTHR Bl G531 BT
Which of the following is not a function of cutting To cool the tool
fluid B, e @ wa=r e
To flush away the chips
c. 9 IR IueHR & Taeg o auur
D TG HAT
To increase the friction
between the chip & tool face
D. &1 o] Pl ST B
To cool the work piece
5. |ofthr BRTR gR1 AU $Ra 999, T ©d Ued| A. 25.28 Hl/mm
o584, 3R 28 g AR wuT T Wha § A9 ®ear| B. 25.14 i /mm
21 9ffR &1 ofike BT 0.02 mm §1 WG § C. 25.56 1 Hl./mm
D. 25.00 frdl/mm

During measurement using vernier cahper the main
scale reading is 25mm and the 28" vernier division
coincides with the main scale. The least count of the
vernier is 0.02 mm. The measurement is
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7.4, Uy IR ey
Q. No. Question Answer Options
6. |VUSS ..o RIS S 5 A. FIEeS €I/ Mild steel
Lathe bed is made of B, 9% TEl/ Cast iron
C. T3eH / Titanium
D. SegHM / Aluminum
7. | ARG Wi we! e o 550, § B Hss go| A, 190.98 SRULTH pm
forge! i wis 30 Hiex ufd fAFe § §RIgHR & fag| B. 1909.8 SM.ULGH.Apm
Sea s aml C. 530.52 3R.ULEH.rpm
The spindle speed to turn a mild steel rod of diameter| 1. 5305.2 3R.UL.TH./rpm
50mm using HSS tool with a cutting speed of 30
meter per minute is '
8. B2 C 0] I [ 0 A ST T o 81 A. HERIC/ Concrete
Marking tables are made up of B. ST / Aluminum
' C. { Granite
D. SRIE & JFIs ol
None of the above
9. | 9fRR 999 WiaeR T Wk BI3T A 1°
The least count of vernier bevel protractor is B. 10’
C. 1’
D. s
10. |9 P Iehlsd daH & (A€ Sid B THeT 8g| A. 3 IB /3 jaw chuck
fFrafaRad gkl o1 Sugr giar g B. Sidc & / Collet chuck
To set the work run eccentrically, the following| C. 4 dF /4 jaw chuck
method is used to hold the job D. SR ®I% 8]
None of the above
11, |srfaRe uial & forg, uiival veeH 9 usd 8¢ $T3™| A, 981 3™/ Major diameter
... GO BT 98T B. WY ¥/ Minor diameter
For internal threading, the hole diameter to be drilled| C. dIrfd® SR/ Effective
before threading operation is equal to diameter
D. 3¥d SR/ Average diameter
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7.4. e I fdod
Q. No. Question Answer Options
12. |3 3R T Il & forw fpw veR & f&@ H19UANT| A. NUSR/ Type N
fen e B B. HUSR/ Type H
For hard and tenacious material which type of drill is| C, S UPR/ Type S
used D. SR H Y FE Tl
None of the above
13. [Tt wredsd de.. FEar el A. To + I/ 8 &1 980
In a multi start thread, the lead is equal to Pitch + number of starts
B. U=/ 98 & 9=
Pitch / number of starts
c. o9 -9 e @t gen
Pitch —number of starts
D. U x T:ﬂﬂﬁﬁ Eakstesll
Pitch x number of starts
14, |[ERTE (@F) W AF-ee ¢ g % e e vare| A, fgRi/ Drilling
T FUGI far ST § B. f/ Reaming
Which operation on a lathe is used for making non| C. AT/ Boring
standard holes D. SRFFH Y HIs T8l
None of the above
15, |ored) wee finforer & Ay et e & B B &M S| A. AHR/ Reamer
ST A T 9g fag R STER B. SIFTEd/ Boring tool
The multipoint cutting tool which is used to enlarge| C. feeRe {g&/ Twist drilt
and accurately size hole with good surface finish D. IWigd o Y BIE T8t
None of the above
16, | de d Fafafed a8 3 ol 91 TE A. Tt =fié/ Square head
A combination set doesn’t contain which of the below| B. %</ Rule
part C. Hieaex oY
Protractor head
D. Srsd e / Dial gauge
17. FofafEad ¥ e 9 ufifea gea 8 A, P TT 9t gIRd
Which of the following is a positive drive Cross flat belt drive
B. U ¥4/ Rope drive
C. di-dcc gled / V-belt drive
D. 99 g¥d / Chain drive
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Q. No. Question Answer Options
18, wmmﬁmﬁzﬁn%ﬁqméﬂ?fﬁhﬁﬁ A, gFd e S
1 FUU g fobar =i gebal Compound stide method
The taper turning method which cannot be used for| B. ¢WR T Tews
internal taper turning on a lathe Taper turning attachment
C. <3a T Sfpae A
Tail stock offset method
D. IWiG AP Tl
None of the above
19, | & 5 - ) A
Evaluate (— - —) B. 2
5 7 7
c 2z
12
D. =
20. (TR SFUIT 1:6 o WA §1 WYE WEH gHS B| A, 1/6
BT IR ........... BHT B. 1/18
The taper ratio is given as 1:6. The tangent.of the] C. 1/12
compound slide swivel angle is given as 1 D13
21, |U% 99 B o G forget gaiw &1 A 240 f&tlt 2| A, 1.92nm?
3R o9 2.4 HieR § 6 9T Sl @ gl B. 11.52nm’
The area of the sector of circle that has an arc| C. 2.88mm’
measuring 240 degrees and a radius of 2.4 m D. 3.84n m’
22, |4 D SSTHN G IR @ DT HHG SR L dHPT| 4 PDXL
el Tl § 3R 1 SR S Bl S Wb AT HINA, iy,
< g1 e T & forg sifpde ... B T
If ‘D’ is the bigger diameter, ‘d’ is the smaller| o 2=DX!
diameter, ‘L’ is the total length of job and ‘7" is the (Dwé‘) X1
taper length. The offset for taper turning by tail stock D. T
offset method is given by
23, ARSI ..o a?nm:rﬁwgaaaﬁﬁrrcﬂ%l A. Y T/ Minor diameter
3 wire method is used to measure B. 937 &AM/ Major diameter
C. dar«ifde s -
Effective diameter
D. SR H I BIE 7

None of the above
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0.9,
Q. No.

™
Question

SENECTE

Answer Options

24.

7 % U < 3R T &1 BT 2* & o

For a square of side ‘a’ and circle of radius ‘a’

g FT 89 I & &7 A ST B
Area of circle is greater than
area of square

1 T 43 79 & &7 A a3
Area of square is greater than
area of circle

%ﬁwaﬁaﬁ?ﬁwﬁaw
s

Area of the square and circle
are equal
SR H Y HIE e

None of the above

25,

50 , 70 3R 120 1 GRHS HIHH B
The arithmetic mean of 530, 70 & 120 is

120
240
160
80

26.

YT TTeX PR BT 3% HI0T 3

For heavier depth of cut, the rake angle is

DomplUowy

FUHHD [ Negative

R/ Zero

XD RIHD / Positive
W@aﬂﬁ@faﬂéqﬁl/lﬁone of

the above

27.

UAYS H & SHARS B.......... B

The internal angle formed in a pentagon is

Oow >

60°
72°
45°
120°

28,

T e gl e T R4 IR TIT R
7/16” WIS DI &I HTe & fau MR Sgae § offurd

The change gear ratio to cut a thread of 7/16” lead on
a lathe with lead screw of 4 threads per inch

U0 ow op

GIRd /Driver _ 40
%aﬂl/Driven 70
GIER /Driver _ 80
Eaﬂ/Driven 70
§IzaY /priver _ 70
l%aﬂ/ﬂriven 40
SRAY /Driver _ 70

T§g3/Driven 80

29.

affge d ¥ ae ¥ Uk g w7

Which of the following is the heaviest metal

Cows

FIRET/ Magnesium
ST / Aluminum

TI&T / copper
dS / lead
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udg.

Q. No.

Ik
Question

I fdweg

Answer Options

30.

L2 (<5 (O F1 g Bl

Newton is the unit of

A.

ocaw

' @/ Distance

qld / Pressure
o¢ / Force

St/ Energy

31

frafefEd 9 P o oTg ST T 81

Which of the following is a non metallic tool material

>

3= Tl e
High speed steel
SHEET

Ceramic
I HIET B

High carbon steel

ware

Stellite

32.

W%ﬁwmﬁ ...... glarg

Preventive maintenance of machine involves

i

T SR SUSRTT FT Safs
e _
periodic inspection of machine
and equipment

JIed SIERN & SIHR Hed
lubrication as per manufacturer
instructions

7 &t iR ofik ot IRum
servicing & overhauling of
machines

SRIeT GHt

all of the above

33.

YTy &Y PIRY T SANT S B ARRY B B
el & U ..o FEd 8l

" | The property of a material to resist sudden load during

metal cutting is termed as

PHIES FSd

Cold hardness

. SFE

Red hardness
THEA

Toughness

Brittleness

34.

fg o T 40 Hiex wfafime § iR SwmaR wig 0.5
U o &1 WS &1 Ue gobel e el 400 HieR
3R = 50 AL 8 W we gl & & g sravgs
e faa g

If the cutting speed is 40 meter per minute and the
tool féed is 0.5 mm per revolution. The time required
for one complete cut on a piece of work 400mm long
and 50mm diameter is

oWy

3.14 fiAe/minutes
5.41 fHe/minutes
1.25 fFe/minutes

. 1.53 fFeminutes
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ud,

Q. No.

uy
Question

IR famey

Answer Options

35.

ufaed o aRyTST §1

Stress is defined as -

TS x SR BT BT dTHA
Load x area of cross section
ol x HHY

Force x time

aﬁx@

Force x distance

TS / SR PHIE HT 8IHT

Load / area of cross section

36.

A T [0y 1 g6 SD 9 ... GRT ST ST 81

Generally tool bits are joined to the too! shank by

CNw>

3TETP / Adhesive
AfTET/ Welding

TIgT oIS / Silver brazing
T/ Soldering

37.

SiaRe {89 & ard o AU g SUgad HME ST

The standard tool used to measure the diameter of an
internal recess

>

<

LRI

CIUEREAT BN

Vernier caliper
Five point internal micrometer
Dial gauge

A fomg ofiafve aR®HeR

Three point internal micrometer

38.

A 88 °0 I | FafiRed sen § 2u guifaw 31
Generally hand tap set consists of following number
of taps

6
3
1
2

39.

R ¥ AR & foTe Suga

A steady rest is generally used for

w

> oW

UL DI b

Holding the tool

¥ SR e BT g b T
e weTren

Support for turning long &
slender workpeice

Qb eff

Eccentric turning

FT g BI FaAfT

Clamping of workpeice
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7.9, WY IR fadvey
Q. No. Question Answer Options
40, |BIAER T A. BT T BT SFTA
Follower rest Follows the workpiece
B. SUEHI BT HJTHA
Follows the tool
C. WG 3R W 3dd
Fixed to the lathe bed
D. ¢G50 KP WA
Fixed to the tail stock
41, |Frofafad gl § 4 foad &9 wow ga a1 & A, oy
foTq fopa S g1 Titanium |
Machining of which of the following material requires| B. SRl @€a
less cutting force Stainless steel
: C. 3egHiHT
Aluminum
D. o el
Cast iron
42, [Pyfefed 7 9 fog o 1 957 (@faewm) @ wWy| A, @R e ag
fafey & Soarr 78t fovar < e § Mineral oil
Which of the below lubricant cannot be used in splash! B, W9/ Grease
method of lubrication c. dxrdl (RRfe®) o
Synthetic oil
D. U d4 (A a9
Animal oil
43, |omiee A Riferdifdt .. &
In drawing, cylindricity is represented as A [Ofox
B. |®]01|a
C. |llo1|a
D. [£y| o1
4. | e IR T SUUIT T W0 & &9 Soll & WUN0 &5 | A, GHFIER / Parallel
I R R IR G EGE] B. UE - 31§71 / Co-axial
Bevel gear is used to transmit power between shafls| ¢ U $)UT U/ At an angle
which are D. IR H Y B

None of the above
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U,

Q. No.

A
Question

IR fawey

Answer Options

45,

wgﬂmaﬂﬁwr 3N TS b § P ST
....... I
Volume of a cone of base radius ‘r” and height ‘b’ is

oSow »

nrih

nrih

nr*h
nreh
5

46.

T 3 T g H1....... B

The point angle for a standard drill is

SOy

90"

118°
108"
125°

47.

e AP Y Ug TR Y Hela g ?
Which of the following terms are associated with
taper

TNw»

S/ Jarno
ARt/ Morse
139 G TMY / Brown & Sharpe
IWRIad Gt /7 All of the above

43.

& THA B
500 microns is equal to

SEeY- IS

0.2 T dt/mm
0.2 ¥ Hdt/em
0.5 9L /mm
0.5 ¥ /cm

49,

L5 [ ORI T firsreng g1

Brass is an alloy of

>

fe ofk am
Tin & copper

q
Aluminum & Magnesium

. Ay 3R i

Copper & zinc

feqafsie
Tin & Zinc

50.

PR I SR
Density is defined as

GOIHTT x HTOdd
Mass x volume

S/ 3HTadd
Mass / volume -

GOUHM + HRIAH

Mass + volume
Mass — volume

Page 10 of 14




TE 11 (Turner) : Series —D

4. Yy I [dwey
Q. No. Question Answer Options
5]_ +0.01 o~ A 0.02
50-0.02 P GEIHCTANE) o.vovveeren, '
{('0.01 g B. 0.04-
Tolerance of 50-0.02 is C. 0.01
D. 0.03
52. Fufif@a & 3 o argded gReiEiony) § A 2503
Which of the below is a bilateral tolerance +0.1
B, 25+0.2
+0.1
C. 25-0z2
+0.0
D. 25+0.2
53, |U% ©RIC W UREITEH 81 T & 916 N I 961 A. BRI/ Facing
ST 3 B. VQTR' cf7/ Taper turning
An operation on lathe where the diameter is increased| C. JfHT/ Reaming
after operation is D. / Knurling
54, (Fofafea ¥ 9 99 T HoR ST 9l ¢ A. HSS
Which of the below is the hardest tool material B. H?I_G!’T%TS'/ Carbide
C. fuffe 1 Ceramic
D. BRT/Diamond
55. |100 fo.HI. mﬁ%@%eﬁfﬁh 7 g9 9 i | A 20 A l/mm
ferdt Tep-a e Tyg §, wigl 80 fr el =ow & = B. 10 L dl/mm
forat o G o C. 5 fadt/mm
In eccentric turning of a rod of 100 mm dxa_meter, D. 15 B d/mm
what is the maximum possible eccentricity at which a
diameter of 83 mm can be turned
56. |9=r Tas R, & GENT U B el ¥l A. e/ Turning
High surface finish is obtained by B. faf¢T/ Milling
- C. WEfEN/ Grinding
D. wft !/ Lapping
57. 759 UBR 3 TRIE 31 YA Ided R § 59 11| A. % @ERT/ Centre lathe
%I B. &9 Wa3/Bench lathe
Which type of lathe is used for production work C. SUHY ©& Wl / Tool room
lathe
D. T G e WexT/ Capstan

and turret lathe
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u4. Ty I faded
Q. No. Question : Answer Options
58, |frg vare 8 4 fg 7 o Rdsa an =nfgul A. TS BRA
Which of the below operation requires higher spindle Thread cutting
speed B. ST/ Boring
C. 3T/ Reaming
D. ¢t Tapping
59. |6 F P H e JHSU B A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
D. 2160
60. | s e Rreds 3 WR 240 iyl &1 fim ¥ 98 Iaaw| A. 60 fHHL/mm
fop g ST 1 AL PR Hepell B B. 120 frdl/mm
A lathe having a swing over bed of 240mm can| C. 240 I HL/mm
accommodate a component of maximum diameter| D. 480 A /mm
equal to
R ﬁ/Rough work
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